Graph) y = x* —6x +5 Graph) g(x) =—(x-2) +3
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8.5 Transforming Quadratic Functions

Compared to the function f(x) = x4, a quadratic

function will become narrower or wider depending
on the value of a: the smaller |a| is the wider graph

will be. - 5[}\_] 1% polder than
Example) f(x) = x2 and g(x) = %x? £r) becawmst tu o i
Pavent smaller .

Order the following from the widest to narrowest.
f(x) =-3x2  g(x) = ¥x? h(x) = 2x?

gx) , W), fx)
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For UEJ or down, depends on the c or the k in the

equation.
If c or k is positive, the graph shifts up©or(Qunits
If c or k is negative, the graphgﬂ@f dnwn@ur@unit&

e W

Example) Compare the graph h(x) =x? -4 to f(x) =

f=x" i) ”{@i
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Compare the graphs of the functions below.

) f(x)=x*and g(x)=2x"
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Width:ﬁu‘) s naryower than ’FE:-:J.

Open: 1?)[?'“.. ﬂ'F’EH l-&f‘»
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2) f(x)=xand g(x)= f’@
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3) Compare g(x) =@r1 @m f(x)= x* without graphing.
7
Qa,

C

Width: f}[aﬂ s norrowey than -f{:-ij.

Up/Down: j(?{} moUes L m_hl“ts u_ft'
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4) Compare g(x)=Q2x*1Xo f(x)=x* without graphing.
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Try) Compare g(x)= %f +4 to f(x)=x" without graphing.

width: 1) Ts w'tder tawn L0X)
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Try) Compare g(x)=-5x"-1 to f(x)=x" without graphing.
Width: j[;:.‘} ‘o o vowef  than rE-b(‘;-
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